8th WCCT - Entries Section C: More-movers

Theme

Mate in four moves isrequired, where in the actual solution there are at least two variations showing switchback of awhite
piece either to the square it occupied in the diagram position or to asquare it previously visited in the course of the solution.
The key is dlowed as part of the switchback mechanism. The threat may be one of the thematic variations. A Rundlauf
instead of asimple switchback is permitted.

Judges

The Netherlands, Russia, Sweden, Switzerland, Ukraine

Reserve judge

France

Notes by the Tourney Director

Sorted by (@) the position of white king, (b) the position of black king (if same position of whiteking), (c) random choice (if
same position of both kings).

Computer test results are given as indicated by the country.
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#4 13+10C+ #4 9+11C+ #4 12+12C+  #4 9+14 C+

c/1

1.Te2 [2.L xe3+ Kx €5 3.Lf4+ Kd4 4.Ted#]

1-Sxe2 2.Sx b3+ Ked 3.5c5+ Kd4 4.Dd1#

1-Lxe22Sxe6+ Ked 3.5c5+ Kd4 4.Td6e#

1—-Dgb6 2.Sx c6+ K x ¢4 3.5e5+ Kd4,Kd5 4.Dd7#
1-Lf52.Txf5exf53.Sxeb6+ Ked 4.Tx e3#; 2—Sxe2 3.53+ K xc4 4.ax b3#

Cl2

1.Db1! [2.Db2+ K5 3.Dx b5+ Kd4 4.Db2#]

1-Sxd2 2.Dgl+ Ke5 3.Dx g5+ Kd4/Sf5 4.Dgl/D x g7#

1—-Txd6 2.Dd3+ Ke5 3.Dx d6+ Ked/Kf5 4.Dd3/D x e6#; 2.— Kc5 3.T x b5+ Kb 4.D x d6#
1—-Ke5 2.5e4+ Td6 3.L x d6+ Kf5 4.T x g5#

C/3

1.5d7! [2.5c3+ K x €6 3.5c5+ K x 6 4.Sed#]

1—-Kxe6 2.5c5+ Kd5 3.Df 7+ K x c6/Teb 4.Db7/D x e6#
1—-Sxe32.Txe5+ Kd4 3.Tg5+ Kd3 4.Sc5#

1—cx b3+ 2.Lxb3+ Lca 3.Lx cl4+ Kxch 4.Db3#

Cl4

1.b4! [2.Tx c5+ (A) Kd4 3.Tca+ Kd5 4.D x e6# (B)

1—-cxb62.Dxe6+ (B) Kcb 3.Dd7+ Kd5 4.Sx e3# (C)

1.— Sf4 2.Sxe3+ (C) Ke5 3.5g4+ Kd5 4.Tx c5# (A)

Threefold setting, cycle of the second and fourth white moves, line openings, distance blocks.
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C/5

1.Te5 [2.Tex d5+ K x €6 3.Teb+ Kd6/Kf6 4.Te6#]

1.—Sx g6 2.Texd5+ Kx €6 3.Te5+ Kf6/Kd6 4. Tf5/Te6#
1.-Te3,Tf5Tx b3 2.Tcx d5+ Kx ¢c6 3.Tc5+ Kb6/Kd6 4.T x b5/Tc6#

Cl6

1.bx 86! [2.Dbl1+ K x d5 3.Db7+ Kc4 4.Db3#; 2.— d3? 3.D x d3#]
1.—d3 2.Db2 [3.5d2+ K x d5 4.Sx hd#] K x d5 3.Db7+ Kc4 4.Db3#
2—Txh13.Tgd+ K xd5/K x5 4.Db7/Se3#

1~ Txh12Tgd+ Kxf53.Tg5+ Ked 4.Sd2#

1.—c4 2.Dx a7 [3.D x d4#] K xd5 3.Db7+ Kc5 4.Tc7#

1.— Th(c)8 2.5d2+ K x €5 3.5f3+ Kf6/Ked 4.Tx f7/Te7#

cr

1.Se3! [2.Tx c4 (A)/Txd5 (B)#]

1-Lc3 2.5xd5+ Ld4 (switchback) 3.5e3+ Le5 4.Tx c5 (A)#
1—-Leb5 2.Sxc4+ Ld4 (switchback) 3.5e3+ Lc3 4.Txd5 (B)#
1—-gxf52.TxcA+ dxcd 3.Dxf5+ Leb 4.Dx e5#

C/8

(*) 1.— Ld4 2.Df3+ Ted 3.Db3+ Ke5 4.5d3#

1.— Sd7 2.5c7+ K x d6 3.D x €6+ K5 4.Dd5#

1.5d3! [2.Dc5+ Ked 3.5f2+ Kf4 4.De3#]

1.— Ld4 2.Sx b4+ Kc5 3.503+ Kd5 4.c4#; 2.— Sx b4 3.c4+ K5 4.ax ba#
1.—Td4 2.5x 6+ K x d6 3.Se8+ Kd5/Ke7 4.De5/Dg5#

1.— Tcd 2.1 x ¢4+ Kcb 3.Lb5+ Kd5 4.5f4#

Four thematic variations. Threat: consecutive switchback of two white pieces. Variations: consecutive use of twofold Grims-

haw line closing. Two changes of play.

12+10C+ #4 7+14 C+

C/9

1.Tf5! [2.Sg1 3.L x 3+ Kd4 4.Se24]

1—cxb52.593+ fxg3 3.Lxf3+ Kd4 4.T d5#
1—-La32.5Sxc3+ Kd4 3.5e2+ Ked 4.T x f4#

1—-Sd7 2.Txf4+ Keb 3.Tf5+ Ked/K x €6 4.L x f3/Sf4#

C/10

1.Tgl! (1.Th4?) [2.L x g5+ Sg5 3.Sh5+ Ked 4.T x g4#]

1.— Ld5 2.Dx d4+ Led+ 3.Dc5 [4.5h5/f x e3#] Ld5 4.Dx e3#

1.— 5 2.Dc2 [3.Sh5/Df5#] e4+ 3.Dc5 [4.Df5/Sh5#] Ld5 4.D x C7#




2.—0d3 3.Dc5 [4.D x e3/f xe3#] Ted 4.5x d3#
2—Led 3.Dxed+ Txed 4.5d3#

c/1

1.Lf41 [2.L x €3+ Ke5 3.04+ Kd6 4.Lf4#]

1~ K x5 2.Tab+ Kb4 (2.— Kd4? 3.Td5#) 3.L d6+ Kb3 4.Ta3#
1.— cx d3 2.5e6+ Ko 3.Tad+ Kb3 4.Sc5#

C/12

1.Df8+? d6! 2.Db8 d5 3.Df8#, but 2.— T x ¢3!

1.Txf5+?d5 2.Txd5+ cx d5 3.Db6#, but 1.— Kd4! 2.Dd6+ K x c3!
1.Kab! [2.Ka5 [3.Db4#] Tx c3 3.De5+ d5 4.Der#]

1-Tf12.Df8+! d6 3.Db8! [4.Db6#] d5 4.Df8#

1-Txc32Txf5+ d53.Tf4! [4.Df8#] d4 4.Tf5#

2—Kd4 3.Dd6+ Ked 4.Tf4#

2x 2 consecutive switchbacks in logica form.

1—-Lc2 2.Kab (2.Df8+? d6 3.Db8 Th1!) Led 3.De5+ Ld5/d5 4.Sx ad#

_

6+10C+ #4 13+10C+ 10+10 C+

C/13

(*) 1.— Ke5 2.Teb#

1—Ta8+ 2.Ka8 Sed3 3.5e2+ fx e2 4. Tf4#

1.Lg7! [2.68=D, T Te8 3.Te6+ 6 4.LF64]

1-Df12.Se2+! Kd3 3.Tf3+ Lf3/Ke2 4.5f4/Ld1#; 2.— De2 3.Tf4+ Kd3 4.Td4#
1—Lg4 2.5f5+! Ked 3.Te6+ Se6/Kf5 4.5d6/Te5#; 2.— Lf5 3.Td6+ Ked 4.Td4#
1-d1=D,T 2.Td1+ Sed3 3.5e2+ f x €2 4. Tf4#

Keller paradox, cascade self-block.

cl14

1.b3! [2.Db7+ Kd6 3.Dd7#]

1.~ Txb32.Td7+ Ke5 3.Dd6+ Sx d6 4.Te7#
1.— Sd6 2.5f4+ Kd4 3.Dd3+ T x d3 4.5e2#
1. c4 2.bx cA+ Kc5 3.Tc7+ Kb4 4.Db5#

C/15

1.Tad! [2.Tf2+ Kg4 3.Le6+ Kg3 (3.— Sxe6?) 4.Tg2#4]
1—-Th4 2.Le6+ Kf6 3.Tf2+ K x g6 (3.— SF5?) 4.Lf7#
1—-Kf6 2.Tf2+ Sf5 3.Txf5+ Kxf5 4.Tf4#

1—Th6 2.Tf2+ Kg4 3.D xd4+ Kg3,Kh3 4.De3#
1—-Dd1 2.Tf2+ Df3 3.Txf3+ Sxf3/Kg4 4.Tf4/Leb#
1—-Dxel 2.Dxel Kf6 3.Tf2+ Sf5 4.De6#

C/16

1.LxC7 [2.5x b6+ K x a5 3.505+ Kad 4.Lb3#; 3— K x a6 4.Ta7,Sd6#; 2.— Kb4 3.5d5+ Kad/K x c4 4.Ta7/Sa3#H]
1.— Lg3 2.90c3+ Ka3 3.5b5+ Kad 4.Tad#

1~Kxa5 2.L xb6+ Kad 3.Lc7 [4.Lb3#]
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Cc/17

1.Tad! [2.Ld5+ Kd3 3.Txd4+! Sxd4/Ke2 4.L c4#]

1—-Txad 2.Te6+ Kf5 3.Sxd4+! Sxd4 4.Tf6#

1—Lxc52.8Sxc5+Ke5 3.Lxd4+! Sxd4 4.5d7#

(1.—Sb52.Txab Shar 3.Tx a7 [4.Dxc6#H]; 2—Sa3+ 3.Tx a3 [4.Dx c6H])

Delayed switchback in three thematic variations (including threat). Cyclic types of switching-back and sacrificing (on d4)
units: bishop-rook, rook-knight, knight-bishop.

C/18

1.Dd5! [2.Dd4+ Se4 3.D x e4#]

1~ Lb5 2.Dx 3+ Ke5 3.d4+ Kd6,Ke6/K x d4 4.Dd5/Dc3#
1.— Tc6 2.Dx g5+ Ked 3.5f6+ Kd3,Kd4/Sx 6 4.Dd5/De3#
1.— Sxh2 2.576 [3.Dd6,De5H]

C/19

1.5d5! [2.Sx b4+ Kd4 3.Sa6+ Kd5/Kd3 4.5c7/Sc5H]
1.-Df8 2.5xf4+ Kd4 3.5e6+ Kd5/Kd3 4.Sc7/Td4#
1-Kd4 2.5x b4 [3.Sa6+] d6 3.5d8 [4.Sdc6#] Keb 4.Lc3#

C/20
1.Dgl! Lf7 2.Dcl Th8 (2.— Kb8 3.Dc7+) 3.Dh1 Th8 (3.— Kb8 4.Dx b7#) 4.Dal#
1.—Th8,Tg7 2.D(x)g7

C/l21
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c/21

1.Le6/Lg8? b5!

1.Tg8! [2.Tc8+ Scb6 3.T x c6#]

1—-Dg4 2.Sxed+ Kxc4 3.5d6+ Kc5 4.d4#
1—~Th8 2.Sx ed+ K x ¢4 3.5d6+ Kcb 4.Lf2#
1.—Sc6 2.Sxed+ K xc4 3.5d6+ Kcb 4.5d3#
1-b52.Tc8+ Lc7 3.Tx c7+ Scb 4.T x c6#

Ci22

1.Kc7! [2.5xb6 K x €5 3.5d7+ Kd5 4.Tc5#H]
1—-Lxd6+2.Txd6+ Kca 3.Tco+ Kd5 4.Le6#
1-Sc4 2.L xed+ Keb 3.LT5+ Kd5 4.5F6#

C/23

1.b6! [2.5x c6+ K x b6 3.Sx b4+ Kab 4.Sc6#]
1—~Th6 2.Tx c5+ K x b6 3.T x c6+ Kab 4.T c5#
1~ Kxb6 2.Txc6+ Kab 3.Tx c5+ Kbb 4.T c6#



1—-Lb72.Kar! La8 3.b7! f2 4.Dx a2#
Task: Three white pieces’ switchback to squares visited twice in previous play.

Cl24

Logical tries:

1.Sxf5? T xf5!

1.Sxb5?L x b5!

1.Le3! [2.5e8+ Keb 3.d5+ Keb 4.Te7#]
1-Txe32.5xf5+ Keb 3.597+ Kd6 4.Td5# (3.Te7#??)
1—-Lxb72.Sxb5+ Kd5 3.5c3+ Kd6 4.Td7#

#4 10+10C+ #4 7+6 C+ #4vv(*) 8+5C+  #4 13+10 C+

C/25

1.b3! [2.Ld3+ L xd3 3.Sx 5+ Kd4 4.T x d3#]
1-Td2 2.Sx c5+ Kd4 3.Sa7 [4.Sx c6#] 4.Se6#
1—-Th3 2.Tf4+ Ke5 3.L xc5 [4.Ld4#] Ted 4.Tf5#
(1—Te3 2.Tf4+ Ke5 3.Tx e3+)

Selfblock + Grimshaw on e4.

Cl26

1.Kd2! [2.Ld3#]

1.— Sbl+ 2.Ke3 c1=D+ 3.Sx c1 [4.Ld3#] Sb2,Sc5 4.T(x )c5#

1.—c1=D+S 2.Sxc1 [3.Ld3+ K x d4 4.5h3#] K x d4/Sb2,Sc5 3.503+/Tc5+ Kca/K x d4 4.L.d3/Sh3#

Ci27

(*)1—d52Lf4Kc3 3.Le3 d4/Kb4 4.Ld2#

1.Kd1?d5 2.Lf4 Kc3 3.Kcl Kb4/d4 4.L d2#, but 3.— Kd4!
1.Lf4?Kc32.Td5[3.Ld2#] Kb4 3.Ld2+ K x a4 4.Ta5#, but 1.—d5!
1.Lg5! d52.Lf4 Ke3 3.Le3 d4/Kb4 4.Ld2#

1-Kc32.Td5! Kb4 3.Ld2+ K xad 4. Ta5#

C/28

1.h6 Zz.

1—-gxh6 2.Td8+ Kxe6 3.Te8+ Kd5 4.5f6#; 2— Ld7 3.Txd7 Kxe6 4.L x b3#
1-Lb7 2.Lxb3+ Kxc6 3.Lad+ Kd5 4.c6#

1.—-Sel,Sh4 2.Td8+ K x €6 3.Te8+ Kd5 4.Sx e3#

1.—Sf4! 2.5xe3+ K xe5 3.5g4+ Kd5 4.e4#

1-b22.Lc2 bl=D 3.Lx bl [4.Led#]

1-Thb7/Ld7 2.cxb7/cxd7
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C/29

1.Sxd4! [2.Se2+ d4 3.5934#]

1—Sx b3+ 2.Sx b3+ d4 3.Sx d4 Lb3/Se6+/T x b5+/D x c6+/ex f4lex d4 4.Sxb3/Sx e6/Sx b5/Sx c6/Sf3/T x da#
1.—Tx b5+ 2.Sxb5+ d4 3.Sx d4 Db8+/Se6+ 4.Sb5/Sx e6#

1—-Dxc6+ 2.Sx c6+ d4 3.Sx d4 Tc8+/Seb 4.Sc6/Sx eb#

1.— Seb+ 2.Sxe6+ d4 3.Sx d4 Dg8 4.Se6#

12 switchbacks. The piece of the key gives three switchbacks and does twice the same moves.

C/30

1.Lg4! [2.Lf3+ Kf5 3.e4+ K x 6 4.L gd#

1.— Sed6 2.5c5+ Ke5 3.e4 [4.Td5#] Sx e4 4.5d7#
1.— Sf6 2.Td4+ Ke3 3.Kel [4.Lcl#] Se4 4.Td3#

C/31

1.Tc3! [2.Txd3+ (A) Kc4 3.5¢7 (B) 4.Tc3#, 2— Keb 3.f7]
1—Se7 2.5c7+ (B) Kx d6 3.Lf7 (C) 4.Se8#

1—-Sxf6 2.Lf7+ (C) Ked 3.Txd3 (A) 4.Lg6#

(1—Ke6 2.f7! etc.)

Cyclic white 2nd-3rd moves AB-BC-CA.

C/32

1.Dg5! [2.Sc5+ K x €5 3.5d3+ Ked/K x d6 4.De7#/Dd8#]

1.—Lh2 2.5xf2+ K x €5 3.De7+ Kf4 4.5d3#

1.—cxd6 2.De7 [3.exd6+ K x d5 4.Saba#] K x d5 3.Sabd+ Ked 4.ex d6#; 2.— 4 3.ex d6+ K x d5/K5/Le6 4.Saba/De5/D x eb#

C/35

#4 10+12C+  #4wv 10+12C+ #4 11+9C+ #4 11+13C+

C/33

1f6[2.Sf~ Kh8 3.f7 4.f8=D#]

1-Txed 2.5x g5+ Kh8 3.5f7+ Kg8 4.Dgl#

1—dxe4 2.5xe5+ Kh8 3.5f7+ Kg8 4.D x g5#

1.—-Sab 2.Sxd8+ Kh8 3.5f7+ Kg8 4.Dc8#

1-exf62.Sxd6+ Kh8 3.5f7+ Kg8 4.Df8#

Four thematic variations. In every variation two line openings.

C/34

1K~? 3!

1Ke6?e2!

1.Kc6! [2.Sb2+ (A) K x 3 3.Td7 (B) 4.Sa4#]

1-Sf32.Td7 (B)+ (2.Db1?) Ke4 3.Dbl (C)+ Ke5 4.TeT#

1-f32.Dbl (C)+ (2.Td7?) Ke2 3.5b2 (A) [4.Dd1#]

Cyclic white moves, distant selfblocks with dual avoidance, WK correction.

C/35

1.Dc7! [2.Dc5+ K x €6 3.De5+ K7 4.De7#]

1.— K x €6 2.De7+ Kd5 3.De5+ K6 4.Dc5#

1.— K xd4 2.Dc3+ Kd5 3.5f4+ K x d6 4.Dc7#

1.— Sb~ 2.D(x )cA+ K x d6 3.Dc7+ Kd5/K x €6 4.Dd7#

C/36

1.Dg8! [2.Te2+ fx e2 3.5f2+ Kf3/K x5 4.Dg4/Dg5#]

1-Le2! 2.Dgd+ K xd5 3.5e3+ D x €3 4.Dg8# (2.5d6+? Kd4 3.Le3+ D x €3 4.905+ L x b5+!)

1.—Se2! 2.5d6+ Kd4 3.Le3+ Dx e3 4.Sb5# (2.Dgd+? Sf4l)

Defences on thethreat square (Umnov I1), whitethird moves to the same square, switchbacks at mating move, dual avoidance.
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C/37

1.h6! [2.Tg8+ Kxh6 3.Th8+ Kg5 4.Th5#]
1-Tc8 2.5x 3+ Kg4 3.Se5+ Kgb5 4.f4#
1-Th4 2.Tg8+ Kxh6 3.Th8+ Kg5 4.gx h4#

C/38
1.Txe6! h6 2.Texh6 f33.Lg6 Kxc6 4.L ed#
1-f32.Lxf3h63.Ted Kxc6 4.Teb#

C/39

1.Tb8! [2.Sx b7+ (A) Kb5 3.Sbd6+ K5 4.Sx e4 (B)#
3—Kab,Kab 4.TasH]

1-Tx Q7 2.5x e4+ (B) Kb5 3.Sed6+ Kc5 4.Txc4 (C)#
3—Kab,Kab 4.Tas#

1.—Sb2 2.Tx c4+ (C) Kd5 3.Td4+ Kc5/Keb5 4.Sx b7 (A)/D xf4#

#4 9+14 C+

Cycle of white second and fourth moves, switchbacksin third move. Defences open the hidden lines. Additional switchback

of the key piece.

C/40

1.La2! [2.5x b3+ (A) Kea 3.502+ K5 4.5x €6 (B)#]
1.—Dd1 2.Sxe6+ (B) Kd5 3.Sc7+ K5 4.L x d4 (C)#
1.— Dg4 2.L x d4+ (C) Kd6 3.Le5+ Kb 4.5x b3 (A)#

Cl42 C/43
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HA(*) 11+13C+ #4 11+8 C+

Cl41

(*) 1.— Sd2 2.506+ (A) K5 3.Ld4+ Sx d4 4.5d7#
1.5 2.5c7+ (B) Kd6 3.Le5+ Sx €5 4.Sp5#
1.Lb4! [2.Ld6! (C) €5 3.5b6+ (A) Keb 4.L.c84]
1.— Sd2 2.5c7+ (B) Kd4 3.Lc5+ (D) Kc3 4.So5#
1.— 15 2.506+ (A) Ke5 3.Ld6+ (C) Kf6 4.5d7#
1.—Sc5 2.L x5! (D) c3 3.5c7+ (B) KA 4.Lab#

Cl42

1Kf7! [2.Ld5+ K x5 3.e4+ L x 4 4.L e6#]
1.-Dc2,Del 2.Te3+ K xf4 3.Tf3 Ke4 4.Ld5#
1.~ Tx 5 2.5d6+ K x d4 3.5f5+ Ked 4.Td4#
1.—gxf4 2.Td5 Lb8 3.5e7 [4.Lf5#]

Cl43
1LgS! Zz.
1—Sc6 2.5d7+ Ked 3.Lf4 [4.5c54]; 2— Kd6 3.Lf4+ Seb 4.L x e5#

#Av 10+14 C+



1—Sd~ 2.5f3+ Kd6 3.Lf4+ Kc6 4.Sd4#
1-f42.gxf4+ Kd6 3.Ld8! [4.Sb7#]
Two thematic variationswith two knights.

Cla4

1.5657 [2.L x c4#] Sbx d6!

1.Td1! [2.5b4+ (A) Ke5 3.Td5+ (B) L xd5 4.5d3 (A)#]

1-f52.Tel (B) [3.Te5#] exd6 3.965 (A) [4.L x c4#] dx €5 4.Td1 (B)#

13+13C+ H#avv 11+12 C+

Cl45

(*) 1— Lxe3 (a) 2.Tf6+ (A) K x€5 3.Teb+ K xd5 (c)/Kf5 4.D xe4 (C)#

1.— Sxe3+ (b) 2.5xe3+ (B) Kf4 3.5g2+ K3 (d)/Kf54.L xe4 (D)#

1.Te2?[2.Tf2+] L x €3/Sx e3+ 2.Tf6+/Sx €3+, but 1.— Sf4! 2.Tf2 L xe3!

1.Kgl! [2.Tf1+ Sf4 3.Shd+ gx hd 4.T xf4# or 3.Txf4+ gxf4 4.Sha#]

1-L xe3+ (a) 2.5xe3+ (B) Kf4 3.5g2+ Kf3 (d)/Kf5 4.Dxe4 (C)#

1.—Sxe3 (b) 2.Tf6+ (A) K x €5 3.Teb+ K x d5 (C)/Kf5 4.L x e4 (D)#

Reciprocal changes in second white move based on line openings. Another reciproca change of mates in fourth move. Set
supporting try.

C/46

1.Td6+? Kxc5 2.T c6+ Kd4 3.Sx b3+ L x b3!

1.Sxb3+?Kc4 2.5d2+ Kd4 3.gxh8=D,L+ Tx h8 4.Sx f5#, but 1.— L x b3!
1.Tg5! [2.5xf5+ (A) Kd5 3.Se7+ Kd4 4.Td6# (B)]

1-Lg4 2.Td6+ (B) K xc5 3.Tc6+ Kd4 4.5x b3# (C)

1-Lf32.Sx b3+ (C) Kc4 3.5d2+ Kd4 4.S5x f5# (A)
1-Txg5?2.gxh8=D,L+ Tg7 3.Dx g7 Dd8/L xg7#

Cycle of white moves.

Cla7
1Ld4! a2 2.Tcx a2 b6 3.Lb2 Kxf2 4.L d4#
1-b62.Lxb6a23.Tc5 Kxf24.Tc2#

Cl/48

1.Th4! [2.Scx ed+ Kdb 3.5c3+ Kc5 4.Tca#, but also (Dual) 2.T x ed, 2.Ke5]
1-Lc2 2.Sdxed+ Kcd 3.506+ Kd3/K 5 4.Td4/Tca#

1-Lf3,Lg4 2.Sx ad+ Kd5 3.Sc3+ Kcb 4.ba#

1-Txd62.Txed[3.Lxd6+ Kxd6 4.f8=D,L#]

1-Lb32.Txed[3.Tes+ 4.Sced#] Txd6 3.Lxd6+ Kxd64.f8=D,L#

Cook 1.L xd8, 1.f8=D (Tourney Director)

C/51
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Cl49

1.Tc3! [2.Tx ¢4+ Kxd3 3.Tc3+ Kd4 4.Le5H]
1.—cxd52.Se6+ Ke3 3.Sx f4+ Kd4 4.Se6#
1—-Dc5 2.Le5+ Ke3 3.Lxf4+ Kd4 4.Le5#

C/50

1.Lc7! [2.cA+ dx €3 3.5f5+ K4 4.5x 34]

1.—Lc3 2.5b7+ Kc4 3.Db5+ cx b5 4.5d6#

1~ Sc3 2.905+ K4 3.Thd+ cx b4/T x b4 4.5d6/Sa3#

1.—Td8 2.Db5! Dxc7 3.Db3+ c4/Tc4 4.Db5/D x c4#

1—-Dxc7 2.5b7+ Dd6+ 3.T x d6+ Kc4 4.D x c5#

1—-Tf8+ 2.gxf8=D Sf4/Sg5 3.Df 7+ Se6/Kc4 4.D x e6/Sx e5#

White battery play for line opening (Anti-Lewman), dua avoidance, blacks second moves to the same square, additional
switchback in by-play.

C/51
1.Tb7 [2.Sxc7+ Kx 5 3.Sa6+ Kd5 4.Td7#] f3 2.5x €3+ Keb 3.Sc4+ Kd5/Kf4 4.e4/Le3#

C/52

1.Tc8! [2.D x c5+ Keb 3.5c6+ K6 4.Dd6#]

1-Dxd5 2.903+ Kc4 3.Tx c5+ Dxc5 4.Sa5#
1-Txd52.5f5+ Ked 3.d3+ Txd3/K x5 4.593/Tg5#
1.—Se7 2.Dxc5+ Keb 3.Dx e7+ Kxd5/Kd4 4.T d8/Ded#

#4 12+12C+  #4A(*) 7T+5C+ 4 9+11C+ #4 10+8 C+

C/53

1.Lc7! [2.Sx g5+ K5 3.d4+ Sx d4/L x d4 4.Sed#]
1—-gxf42.Lb6+ Ke5 3.d4+ Sxd4 4.Lc7#
1—-cxd22.Dal+ Kd3 3.Sc5+ Ke2 4.Df 1#

1—-Dxeb 2.Sxc2+ Kxd5 3.Dd3+ Ld4/Sd4 4.S5e3/Sx ba#
Distant selfblocks, four switchbacks.

C/54

(*) 1—f62.Lg8 g5 3.Lh7#

1.Lg8! [2.Lh7f63.Lg8 g5 4.Lh7#]
1.—g5 2.Lh7+ Kf6 3.Lg3 g4 4.L ha#

C/55
1.Tccb [2.Tx d5#] L x c5+ 2.Tx ¢5 [3.Tex d5# 2.— Dg8 3.L x d5] Th5 3.Tdx d5+ Keb/K x g6 4.Tc6/4.Td6#

C/56

1.b5! [2.8h5+ K xd5 3.5f6+ Keb 4.d5#] Not 2.5x e2+7? K x d5 3.5f4+7?? (pinned knight)

Not 2.Sx g6+? K x d5 3.5f4+?? (pinned knight)

1—-Txb52.Sxe2+! Kxd5 3.5f4+ Kc6/Kd6 4.Teb#

1-Td82.Sx g6+! Kxd5 3.5f4+ Kd6/Ked 4.5f5/Te7#

1.— Sb6/Sc7 2.5e6+ K x d5 3.5(x )c7+ Ked 4.TeT#

1.—Te8 2.5h5+ Te5 3.5f6 [4.L x e5#]

Full threat with two thematic triesand two thematic variations. Siersbattery, with thefront piece making four different moves.
Contrasting threat with variations and four different mates.
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C/57

1.Kf3! [2.Sc5+ Ke5 3.Lc3+ Td4 4.5d34]

1.—Sed 2.Txed+ Kf6 3.Lx hd+ Tg5 4.Tf4#

1.— ax b4 2.504+ Kd6 3.L x b4+ Tc5/Tc7 4.S05/Th7#

C/58

1.Dd7! [2.Dg7+ Kf5 3.Le6+ K x €6 4.Dd7#]

1.— Dh6 2.T x h6+ K xh6 3.Dg4 [4.Th1#]

1.— €3 2.Dg7+ Kf5 3.ex 3+ Kg4/Df4 4. Tha/Th5#

C/59

led+?dxe3ep.!

1.Tf1! [2.Sx d4+ Ke5 3.5f3+ Kf5 4.e4#]

Not 2.5fh4+ Keb 3.Tf5+ L x5 4.5f3#, but 3.— Dxf5!

Not 2.Sx g5+ Keb 3.5f3+7?7? (pinned knight)

1—Lel+ 2.Sxel+! Keb 3.5f3+ Kf5 4.T x c5#

1—TeB 2.5x g5+! Keb 3.5f3+ Kf5 4.5ghd#; 2.— K x g5 3.hd+ K xh5 4.5f44#
1.—De7 2.5fh4+! Ke5 3. Tf5+ L x f5 4.5f3#

1.—Se3 2.Sxd4+! Keb 3.5f3+ Keb 4.Sx e3#

1.—c4 2.Sx d4+ Keb 3.5f3+ Kd5/Kf5 4.L x cA/d4#

Six thematic variations, one on amating move. Seven different full-length mates. Siersbattery play inall six variations. Three
different mates by Sg2.

C/60

1.5g2! [2.Se3#]

1— K xd5 2.5e3+ Keb 3.5d5 [4.Te7#] e4 4.Sf4#
1.—Leb 2.dx e6 [3.5e3#] Kd5 3.5f4+ K4 4.Ld5#
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C/61

1.TxC6? [2.Db2+ Ked 3.De5#] T x 8!

1.5d6! [2.5f5+ Ked 3.Del+ De3 4.D x e3#]

1.—Tf7! 2.5x b5 Sx b5 3.Db2+ Ke4 4.Deb#; 2.— Ked 3.Del+ De3 4.D x e3#
1.— Dab 2.5f5+ Ke4 3.Dc5 Del,Dc7 4.5d6#

1.— €2 2.5f5+ Ke4 3.Db1+ Ld3 4.Dhl# 2.— Kd3 3.Dd2+ Ke4 4.Sd6#

Cl62

1.b4[2.S5x c3+ 3.S05+ 4.c4#]

1—Tcl 2.5xe3+ Keb 3.5g4+ Kd5 4.e4#
1.—Sh6 2.5xc7+ K~ 3.Sh5+ Kd5 4.c7#



C/63

1.Lc6! [2.Thd+ Lcd 3.Tbx c4#]

1.—Th5 2.TcA+ K xd3 3.Tc3+ Kd4 4.Dd2#

1.— Lb5 2.L.c5+ K x €5 3.Ld6+ Kd4/K x d6 4.Df6#

Cle4

1.Tc7?[2.Lf3+ Kd3 3.5f4+ L x f4 4.L e2#]

1.— Lc6 2.Sg5+ Kf4 3.Lf3 4.Sn3#, but 1.—d3!

1.Th6? Ld1,Lb5 2.Sg5+ Kf4 3.Tf6+ L x 6 4.Sh3#, but 1.— d6!
1.b3?[2.Sg5+ K4 3.Lf3+ 4.Sh3#] Lb5!

1.Tb4! [2.Sg5+ Kf4 3.Tx d4+ L x d4 4.Sh3#]

1—Lc2 2.Lf3+ Kd3 3.5f4+ L xf4 4.Le2#
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C/65

(*) 1.— Sxf6+ 2.Txf6#

1.e6! [2.Td5+ K x €6 3.5f4+ Tx f4 4. Td6#]
1-c32.Sxh6+ Keb 3.d4+ Tx d4 4.5f7#
1—Tf12.Sh4+ Kf4 3.dx €3+ Tx e3 4.5g2#
1-hxg52.Tf3+ Kg4 3.5e5+ Txeb 4.Tg3#
1—Sxf6+ 2.L xf6 hx g5 3.L x g5 [4.Sh4#]
Black rook cross.

C/66

1.Tf3! Tx g4 2.Tg3+ Ted 3.Te3 g4 4.L x ed#

1-Txd42.Tf1+ K x €5 3.Tf3 [4.Tf54]; 2.— Ted,Kcb 3.Tal [4.Ta5#4]
1.—Te2 2.Tf2+ Ted 3.Tf6 ex {6 4.Td6#

Cl67
1.Txd3! a32.T xa3dxc6 3.Lb3 e2 4.L d5#
1—-dxc62.Lxc6a33.Td5e24.Td3#

C/68

1Lxh2! Zz

1.—Sd6 2.5xd6 cx d6 3.Lb7+ Kb8 4.L x d6#; 2.— Lb8 3.Lb7+ Ka7 4.Sc8#
1.-Kb8 2.e8=D,T Sd8 3.D/T xd8 Ka8 4.Sx b6#
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C/69
(*) 1— Lxc3 2.Dx c3+ K5 3.5e4+ Kb5/L x e4 4.5c7/Dab#
1.Kgd! [2.Kf4 3.5xf3H]



1-Keb5 2.5x 3+ Ked 3.Tx c4+ Sx c4/L x c4/Ld4 4.D x d5/Sg5/T x d4#
1-f22.5f3+ Ked 3.Tx ¢4+ SxcA/L x c4/Ld4 4.D x d5/Sg5/T x da#
1-Lxc32.Dxc3+ Kcb 3.5e4+ Kb5/L x ed 4.Sc7/Da5#

CI70

1.Db2! [2.Dc3+ Ke2 3.Dd2+ Kf1 4.Df2#]

1~ K4 2.Lf7+ Kd3 3.Dd2+ K x e4 4.L gb#; 2.— Se6 3.Dc3+ K x b5/Kd5 4.Le8/Dd3#
1.— Sd5 2.5f2+ K4 3.Ld3+ Kb 4.Sed#; 2.— Ke3 3.5g4+ K xf4 4.Df2#

1.— Sb3 2.5d6+ Ke3 3.Sc4+ K xf4 4.Df2#

Cl71

1.Txd3[2.Te3+ dxe3 3.d3#]

1-Tc3 2.5xe7+ Kf4 3.596+ Ked 4.Td4#
1.—Scb 2.Sx e5+ Kf4 3.596+ Ked 4.5d6#
1-Tc52.Th3 3.d3#

Half-pin.

Cl72

1.Kh7! [2.5f4+ Dxf4 3.Sx c3+ K xd4 4.Se24]
1-Txg82.5c7+ Kxd4 3.Td5+ Sxd5 4.Sb5#
1-Txab2.Td6+ Ked 3.Ld5+ Sx d5 4.Te6#

CI73
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CI73

1.Te8 Sf2 2.5c3+ K xd4 3.Td5+ L x d5 4.Sb5#
1—Sxb2 2.Tg4+ Kd5 3.5c3+ Kc6 4.Tc8#
1.—Sx g5 2.K x g5 Kd5 3.5f6+ Kc6 4.Tc8#
1~ Sf6 2.5x f6+ Kf4 3.5xd6 Sf2 4.5h5#

Cl74

1.Lf2?7€eb!

1.Lg8! [2.Te3H]

1—-e62.Lf2[3.Td4#] €5 3.Lc5 [4.Te3#] f4/Sx c5 4.L h7/Sc5#
1.—Sxc5 2.Sx ch+ Keb 3.5c4+ K xf6 4.5d7#

CI75

1.Dxd7! [2.Sx b4+ Ke3 3.Sd5+ Kd4 4.c34]
1.— Sxf6+ 2.5dx f6+ Ke3 3.5d5+ Kd4 4.Dg7#
1.-Tx 7 2.Sx c7+ Ke3 3.5d5+ Kd4 4.Dar#
1.— Sf4 2.c3+ bx c3 3.5b4+ Ke3/Sd5 4.Sc2t#
(L—Tcl 2.5d5~+ Ke3 3.Dx d2#)

C/76

1.Txd4? (A) Txd4!

1.Lxd4? (B) Dx 04!

1.Txa4?[2.Txd4 (A)] Dxb2!

1Lxal?[2.Lxd4 (B)] Txba!

1.Kh6! [2.Dxf7! Sc7 3.Dd7+ Seb 4.Dh7#]

1.—TaB 2.5g7+ Kf4 3.Tx d4+! (A) Sxd4 4.Sh5#
1.~ Dxd12.9e3+ Ke5 3.L xd4+! (B) Sx d4 4.Sgd#
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CI77
1.Sel+ Kf1 2.Lb5+ K x el 3.Dx e3+ Kd1 4.L ad#
1-Kgl 2.Dg2+ Tx g2 3.5f3+ Kf1 4.Lb5#

C/78

1.b3! [2.Db7+ Kd6 3.Dc7+ Kd5 4.Te5H]
1-Txb32.Td7+ Ke5 3.Dd6+ Sxd6 4.Ter#
1.— Sd6 2.5f4+ Kd4 3.Dd3+ Txd3 4.Se2#

CI79

1.h4? hs!

1.cxd6! [2.h4 h5 3.5 x &5+ Kh6 4.g5#]

1.— Sb~ 2.5 x &5+ Kg5 3.5f3++ Kg6 4.Sh4# (2.Sdx €5+? K x 6 3.507+? Dx d7 4.9)
1.— Sd5 2.5dx e5+! K x 6 3.Sd7++ Kg6 4.5f8# (2.5 x €5+? Kg5 3.5f3+? Tx {3 4.7)
1.— h5 2.5f8+ K x {6 3.g5+ Kf5 4.Sh4#

(1L—e4? 2.L xe4+ Sx e 3.58#)



